Sectesn 15,5

o’&) ,w?ww«g.am Xy~ plowne -

J&— plona .
,~3//// A // . Z 4
AL PA 1% o
= ?\ + f
] 0"
~2 24 ,y
. ©)0,2) 1 L 0
&P (%, 2) s
* — Ty > Y
¢00) /% (o) §=1
3.4 3l+F
X Ly = SSS 569) av=39y § ¢ Yh#}({)&%dydx)
; —-3"‘02 -4
| 3
’~Y+

Ty =y 5@) av—_}g § 53T e de gy ax,
: ?

355 rg 3(P)dV = _J3§ S_ ¥ xy (1) de dy
| *3 |
3> T, _333 v28(P)aV = 5 5 3 (J+%/(1/o€zooyd>< )

_5 S S (X% v 4—%7‘)@) dz c)\7al><_




x dzdydx

33 3a- =x Bé—(@—xma’y) e dydx
0 o

25 L((-2x-3Y
S3 S:& 3xj<oC X J de dy d

7—— o o 'e)

= S 52~3“-2<Sé<6—92>(~3)’)l Az dy dx %
2-&x 2 (6-2ax—3Y)

u S 3 : 5 2z Jdzdydx

L = ;

“Zy L(—ax—3Y
533:2 3 JGLG KX )‘ A%d\(dx

| 3 a-Zx g(e-ax-3v)
L 2= S S S (x24y3] (xY2+1) dz dy dx

0 ° \

(K-0)* (=024 (- 7)% = VX2




pis
‘, ,_u.k) _
o) E=Hy? y& -
A e
i o
Xy — M : L1 4
N Iy:S ) S Cxiz—zjéﬁﬂ%«a) dzdydx .
’; 7 ==l dy*
51/




| Vel o 4
Xz I quz K OyEEea) de dy X
) j‘ Sq (X +yr2+a) dzdy dx
=l = T4y R

I

), 1,)

o ) y»(x+74~%+9\] dz dy dx

S_: S_Jl S:y& (X+y+2+2) dz dydx

[ ¢4
§ 5 qul% Qx+y+%+2) Az dy dx

———

el o d
I

X+Y -
[y & ( )’-1—%4«97) Az dy dx

VAR EE! X =
V== a/Y-x% S‘J‘(—xl SL‘ - (X%
€
=2 ~{gTxa XiyA




2 VEXE 4 (XA
33 ) ye  dadydx

~TVaxZ xGy&

JA
: 3’13\/% X2 34 g(x +Y%2%)
f dz d
f ~ 2L - {q—xz X+)’" 2 dyel
~ >y |
~__ /S ___- 2 |
2 Sigﬁﬁxqu ~ (X¥y42?)
2 e dz d X
_Sa S X XGyR z Ay

>

s Qﬁ%ﬁ%

24
-
. P\
%:x+y%,»ﬂ
-& ~
X
z
") L
| i
|| i
i 5
| ) -
//
)
y
X
133.}
l]’
X~L>’L%:Q\
A
f:l—x;}“y s
X
|
|

‘ ) e e

Azdy dX

= (¥y—2)%+ 2*

g(@): = )

XY+ a_

4 Ca g2l .
*.= jo So So «\{-z)‘%z)an 42 dy dx




2—X A-X=Y

a) Mosg = SWS\S §(P)4V = 323 50 ax dzdydx

o ©

2 o A-X A-X=Y

SOSO ) x-(ax) d2 dy dx

Y: — o_\ )

2 a-X ¢ 2-X=Y

§0 XO XSO ax dz dydx

A—X (R=X=Y

— Sigo 50 V-(ax) dzdyY dx )
7T Tl ax 2-X-Y

) S S X 42 dy dx

o O o

2 oz-xgoz«x-\/
_ Vo Y 2 (ax) d=2dy dx
T TR A=X-Y

SOSO BO ax g dy dx

[] \,:(: !
o |G F) Z

o

(/ %

z .

) 1 propection onhs XY— ploe
! 7 )
&

§(P)= X+y+2+ X !




7

a.) Masg = 3; SC{) BO( Q<4r\/+2+1) dz 4y 0\><

5(')5: Si x (xty+z+l) dzdy dx

X =
SLSLXL (X4 +2+1) 47 Y dx
y = Si Si&lo Y (X+Y+Z2+1) dz dy dx
—
SLS; SO( (x+y+2+() dg dydXx
I 2 (xevezel) dzdy dx
Z = —

S( S( (x+y+2+1) dzdydx

o ‘Y0

),

_ [l / |
c.) L.= 30 So SO (x2+52) (+y+2+1) dz dy dx )

- S;SC{, 5; (x2+>’2+%2) (x+y+2+1) dedydy

Z

~) A ‘OJW AT

Z= X+

Z=1=x ( o1 X £ — /a,@m .,
(=l-2 _ Xz £~ |

A AR




A Y=z on
Zz=| e o
RS pretion, o
N | Yz — plowe
L z
§(P)= ay+s

~ ]

| ; '/@.,_,_,f/
| 5(.9): 0’{7{,5/ : ,/ | /
I :

!

) y
o=Z<(, ’ /
Itz Ex<Z=1

0<y<\z
[ 2—1 T&
Masq = 30 S~ So (fy+5) dy dx dz
o'léi-) e A C/l':-<()’f3;[‘J,>)m(:{l
Aot 6 C&" ‘é’\/qj—;:> ) Wi, = 2.
- (-l _

W), Q c3"<‘)9\)3>3m3..(9\

a.) AUuB MC e 121, % Q4—D\<Iqu/1—




{a,18,1a>+ <8 1> <\3J26j(‘3>

L4 Lo

| < 26 > 13
5‘ 14{)14)14 w/?)w

ic,) Buc : 07<-’2 /&>+‘2<() ) z
A+ 1

LBl —ey> (18,74, -5 >

14 1‘{
13 T4 -5 37 5
N TRETRET] 14)7)tq

Wi G Wi Gy g Cg

- e e 4t s ik + A._‘“;N.A., SN

?71,) AvBUC -

4y +m&+vm3

'F ‘9\<l19~ > +9\<9\/ J9~>+,°2<(J 2 ) 5:

12 + 4 + 1

I ;<‘l/ 18, 12> + {8, >+ <‘9‘)(’6/~é>
L6

Las,9a , 7> _ /as a2 l_>
= EYA 26 ) 26 ) Al
25 Hoe

%)ts)?@




